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uuq hrurn 20 10000 500
30192710 Unutrd,urtirurnhrn uutl hrurn 450 9000 20
30192160 Cunblutrhn uuq hruur 220 4400 20
30192737 truqd qnplr uut[ hruur 90 1800 20
30192121 qnhr uuq hum 80 8000 100
30197234 UFuqru[ruF uuq hrurn 850 4250 5
30t97232 Upuqurhrup /phtnrU uuq hrurn 100 10000 100
30199420 uuq tnnL+ 1B0 2700 15
30192125 uur[ huun 200 2000 10
30197235 Oruarur{rutnu[ rutffrur\nrl uuq hrurn 2400 4800 2
30197100 trtunhg ilhtmtl uuq lnm+ 100 500 5
301971 1 I qunh)h ilbZnr-\ UUCT tnnL+ 180 2700 15
30197172 uuq urnL+ 550 1 100 2
30192230 htrptllllq)mtr qntujhprutlrtr purrputrp uuq hnun 550 11.00 2
30192230 hbptnul{qtmtr qntnlhpruJhtr purrlurhp uuq hrurn 450 1800 4
30L92232 hbphrulilrltnttr qnilrilhFurJ htr prurputrp uuq hrurn 70 L400 20
30197120 Vndqurd UUC} tnnr+ 1,70 850 5
39292570 €urtrntr uun hmra 2s0 I250 5
39531600 Zurrnrullh qnfrq uuq huurr 4800 9500 2
397134t0 Zuuml{ r.trupFhlm rfnuln uuq hurn 3550 35s0 I
39831283 Zuuurllh rftupFilrutr Lrup uuq hruur 1150 9200 B
39831281 Uuillllnr- r.truppr.turtr 1up uuq hunn 250 L250 5
39812500 Uluurlhrublrl trlmphp uuq hunn 600 3000 5
39831245 thnph hhqnt odun uuq tlt*p 1900 3800 2
33761300 Uh&hnnghlt UUqT tnnlql 1000 1000 1
33761400 Uldhnnglr[ rnmrlrnrl uu!I unrql 380 3800 10
33761400 Ub&hnnghll rnnlt"rl uuq trrnLql 130 2600 20
39836000 u.lhl UUqT hr.uur 1100 3300 3
18141100 trutnlnprulilutr &hntrng uuq hrurn 250 2250 9
39831240 dur{h1 uuq iltun L20 L200 10
39812100 Zuurru[h tfrubhll hhqnr-\ uuq htuu 560 2240 4
39221500 trupuurflu2rlrh) UUCT hrurn 135 1080 8
39221420 bnqurlnult UUIT hrurn 450 1350 3
39221490 Uqo.ltq uuq hunn 250 750 3
222t1200 'thu2rnntrur\rutr unluurqnhp uucL hmrn 5000 72,0 L2
44221140 rlnm uuq hruu 324000 324,0 1

90511000 Unf h hm{urpr.trutr ur2}uunnnrtrptrhp UUCI tutlhu
200c 24,0 12

651 I 1 100 tuilh1m 2p[r pru2]unuf uurl IutI t91,4 54,Q 282



6s211100 9*qJt pru2]until uuq lurl 139 L572,4 tr3t2

65311100 h1h[npu\rutrmplutr pur2]umtt uuq \rl* 44,98 520,9 11581

65311100 h1h[upu\urtrmplutr pru2]unuf UUC} lltlm
34,98 L5,4 440

64211130 9uqtlu\hpqmpluh p\hrutrnrp hhnurlunuu{ htr uuct tnluFh 91200 9t,2 L

72400000 Zunturgurhgfr burnrulntplnth UUCT utthu 8000 96,0 L2

79341100 $n{urq4ur1 }rh brunrul nrpl nth uuct rnruftr 5000 24,0 4

48441300 Zu2rlruqurhrulprb bptlqph uqruuurp\ntrf uuct tnurFh 95000 95,0 1

724L1700 'Inilbtru1 [rh ruhrlurtrnultrhp uucL rnuFh 9500 915 1

724t1500 Zrurftugurtrgu{bb tghnh hnurn}rtrq[r brunrulmp3nttr uucl tntuFh 24000 24,0 1

76131100 $uqruuqrunrfurh hrurfiul1rupq[ rnh]utr[r\rullutr
uulururuntrftutr brun,

uuq tnurFh
47696 47,7 1


